Ultimate Times Table

Dailyl Practice
Booklet 17




Day 1 Challenge

1x6= 2x6-= 3x6-=
L x 6 = 5x6 = 6 x6=
7 %x6 = 8 x 6= 9x6=
10 x 6 = 11x6 = 12 % 6 =
6+6= 12+ 6 = 18 + 6 =
24 + 6 = 30+ 6 = 36+ 6 =
42 + 6 = 48 + 6 = 54 + 6 =
60 + 6 = 66 + 6 = 72+ 6 =

My score: —_
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Day 2 Challenge

5x6= 8 x 6= 3x6=
11 x 6 = 1x6= 6 x 6 =
4 x 6 = 12 x 6 = 9x6=
10 x 6 = 7 x 6 = 2x6=
12 + 6 = 72 + 6 = 30+ 6 =
54 + 6 = 36 + 6= 6 +6=
60 + 6 = 18 + 6 = 42 + 6 =
24 + 6 = 66 + 6 = 48 + 6 =

My score: —_
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Day 3 Challenge

18 + 6 = 54 + 6 = 42 + 6 =
66 + 6 = 36 + 6 = 12 + 6 =
30+ 6 = 6+6= 60 + 6 =
48 + 6 = 72 + 6 = 24 + 6 =
4x 6= 11 x 6 = 5x6 =
12 x 6 = 9 x 6 = 1x6 =
7x6= 2x6= 10 x 6 =
6 x6 = 3x6= 8 x 6=
My score: —_
24
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Day 4 Challenge

12+ 6 = 36+ 6= 3x6-=
6 x6= 54 + 6 = 10 x 6 =
42 + 6 = 1x6-= 18 + 6 =
9x6= 72+ 6= 6+6=
24 + 6 = 11 x 6 = 2 x 6 =
4 x 6= 7x6-= 30+ 6=
66 + 6 = 60 + 6 = 5x6=
12 % 6 = 8x6= 48 + 6 =
My score: S
24
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Day 5 Challenge

3x6= 12 + 6 = 36 + 6 =
10 x 6 = 6 x 6= 54 + 6 =
18 + 6 = 42 + 6 = 1x6=
6 +6= 9 x 6= 72 + 6 =
2x6-= 24 + 6 = 11 x 6 =
30+ 6= 4 x 6 = 7 x 6 =
5x6= 66 + 6 = 60 + 6 =
48 + 6 = 12 x 6 = 8 x 6 =
My score: S
24
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Day 1 Challenge Answers

1x6=6 2x6=12 3x6=18
4L x 6 =24 5x6=30 6 x6 =36
7 %6 =42 8 x 6 =48 9 x 6 =54
10 x 6 = 60 11 x 6 = 66 12 x 6 =72
6+6=1 12+6=2 18 +6=3
2 + 6 =4 30+6=5 36 +6=6
42 + 6 =17 48 + 6 = 8 54 +6=9
60 + 6 =10 66 + 6 =11 72 + 6 =12
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Day 2 Challenge Answers

5x6 =30 8 x 6 =48 3x6=18
11 x 6 = 66 1x6=6 6x6=36
4x6=24 12 x 6 = 72 9 x 6 =54
10 x 6 = 60 7 %6 =42 2 x6 =12
12+6=2 72+ 6 =12 30:6=5
54+6=9 36+6=6 6+6=1
60 + 6 = 10 18 +6=3 42+6=1
26+ 6 =4 66 + 6 =11 48 + 6 =8
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Day 3 Challenge Answers

18+6=3 54 +6=9 42 +6=17

66 + 6 =11 36+6=6 12+ 6 =2
30:6=5 6+6=1 60 + 6 = 10

48 +6=8 72+ 6 =12 24+ 6 =4

4Lx 6 =24 11 x 6 = 66 5x6=30

12 x 6 = 72 9 x6=>54 1x6=6

7%x6=042 2x6=12 10 x 6 = 60
6x6=36 3x6=18 8 x6=48
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Day 4 Challenge Answers

12 + 6 =2 36 +6=6 3x6=18
6 x6 =236 54+6=9 10 x 6 = 60
42 + 6 =17 1x6=6 18 +6 =3
9 x 6 =054 72 + 6 =12 6+6=1

24+ 6=4 11 x 6 = 66 2x6=12
4 x6=24 7x6=42 30+6=5
66 + 6 =11 60 + 6 =10 5x6=30
12 x 6 =72 8 x6 =48 48 + 6 =8
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Day 5 Challenge Answers

3x6=18 12+ 6=2 36 +6=6
10 x 6 = 60 6 x6 =236 54+6=9
18 +6 =3 42 + 6 =17 1x6=6

6+6=1 9 x 6 =054 72 + 6 =12
2x6=12 24+ 6 =4 11 x 6 = 66
30+6=5 4L x6=24 7x6=42
5x6=30 66 + 6 =11 60 + 6 =10
48 + 6 =8 12 x 6 =72 8 x6 =48
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